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01. Who is the chairman of ISRO during Chandrayaan 3 mission?
g 3 WFHSTH S ATl U1 AT ?
01. S. Somanath (T®. HATA)
02. Tessy Thomas (2t ATHH)
03. Nambi Narayanan (St TR0 )

04. Nandini Harinath (Jfe=t gfeer)
02. Whattime did Chandrayaan 3 exactly land on the Moon as per IST?

YR THT0T A THR DTG -3 "8k fohelt STeTan TIgTar 3ave ?
01. 5:30 pm IST (R SHTUT FSTHR HEATERIG! 4 : 30 T )
02. 6:04 pm IST (HRE THTUT FSTHR HEATRIG! & : 0% T )
03. 6:30 pm IST (WA SHTUT FSTHR HEATERIG! & : 30 AT
04. 5:44 pm IST (HRA SHTUT FSTHR HEATRIG! U : %% FTTT)

03. India’s first human space mission “Gaganyann” will be launched in which

0000

0000

year?
WRATEN Ufgel AE 3iaiies HIgH “TRHEE” Shivedl 961 98fid el ES3? [ 00 0 O
01. 2022  02. 2023  03. 2024  04. 2025
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04. Which country launched the second satellite, Noor-2, into space in March

20227
SHITTCAT 39T T 033 AL -3 T T IUUL AR HSH ? 0000
01. Israel (FE=A) 02. UAE (JUg)

03. SaudiArabia (Fdl 3Rfe@T)  04. Iran (3W0T)

05. Which organization developed Indian robot named “Vyommitra” ?

SN AT HRAE A1 HioTeat T€A foenfed e ?

01. C-DAC, Pune (¥i-Z, qut)  02. ISRO (3&1) OO0
03. TIFR 04. DRDO (S13EiaT)

06. Which indian institution developed an intensive care unit (ICU) grade venti
lator under the name of ‘Project Praana’?
THUTAT WRA TEAR “TIsiere TT0T A1 A1a tfdeerat fawm (IcU) s«
siferre i 7 0000
01. Indian Institute of Science (lISc) (3'%‘&?3‘%2\12 ST 9
02. AlIMS (Tr)
03. [IT-Delhi (E=E-fae)
04. |IT-Patna (SEEE-U20N)

07. India’s first super computer PARAM 8000 was launched inyear
HRATATA Uil U hiregex PARAM 8000_ WEA GiTel ShivalTd SATeAT. 0000
01. 1990 (3%R0) 02. 1991 (%%%%)
03. 1989 (3’¢R) 04. 1992 (33%R)

08. ISRO successfully conducted a 25-second qualification test for which of it’s
engine to be used under the Gaganyaan mission, in January 20227

TE AHERI 202 HEA WA fU9H STaia ToRen SATuT=AT shiutea 0000
SRTETE! 24 AehaTeil TTSTdT STeIUft TITEei e St 2

01. Vikram (fersem) 02. Param (4%H)
03. Vikas (feremm) 04. Paramarsh (UTHY)
09. Whatis the name of the first Indian missile?
e YRR SYUTTET=! A1 R 312 ?
01. Agni (3%t) 02. Sagarika (TTTRRT) COO0
03. Prithvi (Q%E'ﬂ) 04. Dhanush (&%)
10. The Chandrayaan-3 lander will be able to stay on the Moon’s surface for?
G- 3 Tret gTea QsWTIER Tohelt whTes T8 Irhet 2 0000
01. 1 Day (% fe=®) 02. 2 Week (2 3T@a=1)
03. 1 Month (¢ |fgam) 04. 6 Months (& \fga)
11.  Whoinvented the dynamite?
SEFATATSZTN Il ShIUN STaetl ?
01. Marie Curie (VT arft) 02. Alfred Nobel (3Te3hs Hiae ) ©00O00

03. Joseph Black (F@®s&ek)  04. Daniel Rutherford (SFae Eat@wiE)
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12. The instrumentis used for deecting electric current is

01. Galvanometer (TeegIHIER)
02. Tube tester (;agéw)

03. Altimeter (ifeeHier)
04. Fathometer (WaIHIeR)

OXOXOXE)

13.  Which of the following is formed from the combination of lagae and fungi?
I SATVT I ATEAT FEARTIA WA ShiuTar ugred Tam gt ?
01. Epiphyte (Sfuwtge)  02. Mycorrhizal (HRIERRIIES)
03. Mosses (JaT®) 04. Lichens (®TaehH)

0000

14. Whatis the name of India’s second permanent rechearch centerin
Antarctica?

iRt WRATSA GE=1 HIFHESE! TN g 719 i 3R ? 0000
01. Dakshin Gangotri (gf&rut i) 02. Maitri (%:f1)
03. Chakra (¥1sh) 04. Sweta (Fam)

15. Desktop Computers, laptop computers, tablets and smartphones are
different type of

TTHEIU BT, TSI, TTBE MV THREHEFA R ... = g TR\ [ OO0 0O
01. Micro computers 02. Mainframe computers
03. Supercomputers 04. Mini computers

16. “Electric bulb” was invented by and he was from :
TAFCh TeT ATIMY ... Tt AT Bl 30T ... Jofiet 2.
01. Col. J. Schick, USA (e W, 31, Iuwm)
02. J. Harrison and A Catlin, England (. gf@m stfor v, sheferq, T7e)
03. Thomas Alva Edison, USA (& 3tedl ufed, Jueu)
04. Sir Humpherey Davy, England (¥R g% 2, 31058)

0000

17.  Which of the following statements are correct regarding Astramissile?
3T QUUTRATSTS WA TeTueh! ShivTd! faem SRR 31 ?
01. Itis an air-to-air missile indigenously built by DRDO

(2 SI3REI3N A TRyl ST FAqd gad WRT ShUTR SUUIRH 3112, ) O00O0

02. It can intercept target aircraft at supersonic speed

(2 GURHTTR AT TeT Fhoted form=HT A% yTehd )

03. Ituses an indigenous liquid fuel propellant.

(ITIER TRt g9 e TUTGeh aTuRuaTd 31TA 311R)
01. Only 2 (WeF ?) 02. Only 1 and 2 (e § 37Ot Q)
03. Only 1 (% §) 04. Only 1 and 3 (Weha § 37IfUT 3)

18. The fastest super computer of India

WRATATA AT A R BN ...
01. AKA-100 02. Param 8000 (W® £000) 0000
03. Param Yuva-ll (WA FET-3)  04. SAGA-500 (ARTI-%00)
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19. OTEC stand for
OTEC=M 3 ............. AR.
01. Oil and Thermal Energy conservation (1 3101 e Freit TReTT)
02. Ocean Thermal Energy Conversion (HETENR e Fiell FqTaiuT)
03. Oiland Thermal Energy Convention (a5 anfor WWW)
04. Ocean Thermal Energy Conservation (RgFETR Wﬁﬁ‘é‘{w)

0000

20. Who developed Ballistic Missile?
Sfosteees QrauTre shivh it e ?
01. J. Robert Oppenheimer (S Teld 3NUAETE)
02. Samuel Cohen (HF3Te higH)
03. Edward Teller (TSa8 o)
04. Wernher Von Braun (S92 & §i)

0000

21. Whatis the name of the Light Combat Aircraft developed by India indig
enously?
YRA T3 forenfea getarn ieTs: el 18 i 3118 ? O00O0
01. Chetak (=Ieeh) 02. Tejas (A=)
03. Astra (373) 04. BrahMos (F&)

22. Whatisthe S.1. unit of frequency?
TRARA™ TH. 3T Teheh hid AR ? 0000
01. Diopter (STa3ie ) 02. Second (Veha)
03. Hertz (3¢=) 04. Meter (HieR)

23. Acid turns blue litmus paper into which color?
T e ToTen™ UUReT ShiuTeat TTTd Sgeral 7
01. Black (STeaT) 02. Blue (Fer)
03. Red (T717) 04. Orange (9Td)

0000

24. Which of the following gland is present in the human mouth?
TS AT WTeAieTdeht ShiuTdl Jeft 31 ?

01. Adrenal (3tfergTerer) 02. Pituitary (fogged)
03. Gonads (Tﬁ=|1§31) 04. Salivary (T1e5)

0000

25. Which is the correct equation for ohm’s law?
g fawra s g3 T ? O00O0
01. V=IR 02.V2=IR? 03. I?’=RT 04. None of the above

26. Whatis the other name of Newton’s first law of motion?
e TS Uiged HamTe e TE i AR ?
01. Action-reaction (fsran—ufafsram)
02. Change in momentum (TR STA)
03. Law of inertia (Siecamen F=m)
04. Constant momentum (Ted TTdt)

0000
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27. Who is the main producer of our ecosystm?
JTIEHT UG & STUTEh hivT STTE ?
01. Humans (HTUTH) 02. Plant (S=%9dt)
03. Animals (Jott) 04. Bacteria (famoy)

0000

28. Who developed the basic architecture of computer?
TATUThRTE HEAYH T vt forhferd sheft ?
01. Blaise Pascal (SHZI U=hei) 02. Charles Babbage (TTed sat)
03. John Von Neumann (S &4 =IHA) 04. None of these (TTh! ATEY)

0000

29. Which of the following format is used to store data?
WTeTUeh! SHITTAT HiITHE 22T AISTUIHETS! ST STl ?
01. Decimal (S2T91) 02. Octal (3tfeFee)
03. BCD (fHiEh) 04. Hexadecimal (geFaTeime)

0000

30. What does one thousand bytes represent?
T BT STSEH T QYierara ? 0000
01. Kilobyte (KB) (ferentamge) 02. Megayte (MB) (WTTaTEe)
03. Gigabyte (GB) (Frmrege) 04. Terabytes (TB) (2UraTse)

31. Asper PRL ahmedabad scientists, which type of storms can flow towards
the earth and disturb the atmosphere?
FISTRUA SRS IARTSAT Wdl, ShiuTed Sehiie! a1ge goaiedn fav amg. 0000
ITehdTd SATUT ATATERUTIAT ST 235 ITehdTd ?

01. Wind (aImt) 02. Thermal (2et)
03. Rain (I13:4) 04. Solar (¥R)
32. Astronomers have discovered the oldest super-massive black hole
called
TENASTEAA .......... AT Hatd G GO -HIHeE seich gl TNl 3. 0000
01. ULAS J1342+0928 02. ULAS J1120+0641
03. ULAS K1120+0641 04. ULAS K1342+0928

33. Onwhich of the following date, the minimum distance between the Earth
and the Sun occurs?

WA TETdeh! ShIUTeAT ARG G2t STITUT G ATeaTier fehHT 3R 316 ?
01. 4 January (¥ JHaW) O0O0O0
02. 25 December (4 f&@=)
03. 21 June (% 5)

04. 6 July (& I[X)

34. A satellite is used for

01. Communication (EaTg) O000

02. Wheather forecasting (T 37aTt)
03. Agriculture and forestry (et SATOT SfieRTOT)

04. All the above (it &)
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35.  Which of the following (Research Institute-Location) is not correctly matched?
WTAICTUh! ThIUTA (AN TEAT — TAM) SER S5 .
01. Forest Research Institute - Dehradun
(S TN TEAT — TFSA)
02. Arid Forest Research Institute - Jodhpur
(3TSF T |G TEAT — NR)
03. Himalayan Forest Research Institute - Shimla
(TEmTetam o= wynam T — fme)
04. Institute of Wood Science and Technology - Hyderabad
(3TReege T I8 TE 378 oA — 3EUaErs)

0000

36. Whatis teh name of the Aero-space company owned by billionaire Jeff Bezos?
SASATENTT A A AT HITehISAT TIREOE ShuTel ATel i 3T ? 0000
01. Space-X 02. Amazonia 03. Blue Origin  04. Dragon

37. Recently India commissioned its first liquid mirror telescope at -
AR URAM 3t ufgeiiforferas fim 2fereemia ... Y & hel.
01. Himachal Pradesh (TgaTaret Ie91)  02. Uttarakhand (STr@s )
03. Ladakh (v1S/@) 04. Arunachal Pradesh (3TEUT=IA T291)

OXOXOX®)

38. Consider the following statements about James Web Space Telescope
(JWST) - v ad T 2feiahld (JWST) 92t Wieiie farem ferema = -
01. Itis the largest observatory ever launched into space.

(TS FSAA! &l Tdlia HIS! AEIMAT 312
02. It has been developed by NASA in partnership with the European
Space Agency and the Canadian Space Agency 0000
(& T A e e anfon St W Taden writera
forerfta &t aMR.)
Which of the statements given above is/are correct?
FHATR! HIUTA frenm alis) R/ 3Ta ?
01. Only 1 (Werd ) 02. Only.2 (werd R)
03. Both 1 and 2 (8 30T ? 3FA) 04. None of these (ITAh ATEY)

39. Humidity can be measured by -

) O0O0O0
01. Hydrometer (FEIEHISR) 02. Hygrometer (ZTERndieR)

03. Pyrometer (UrERIHIeR) 04. Lactometer (ciaerieR)

40. Which of the following is known as India’s first solar-powered village?

WITAUh! THIUTA TS HRATHA Uleet SRESTaR TR T TgUH SieEet
AT ?

01. Chitrakoot - Uttar Pradesh (Tersege — 3uvewT) O00O0O0
02. Modhera - Gujarat (Wie® — T[<RT)

03. Damoh - Madhya Pradesh (SMg — HeX Ta9T)

04. Agasthiyamalai - Tamil Nadu (STTTEqEWeATE — AHEATS)
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41. Theterms Pinaka and Smerch mentioned in news recently refer to -

HAAThHS AL It Rad fUHTeRT S0 Tl 31 ITearen HeH ... 97t 3.
01. Cruse missiles (EEQ??IWTI’!-%)

02. Nuclear-powered submarines (STWWUTU@E@T )

03. Rocket launcher systems (Wﬁﬂ'{ﬁm)

04. Weaponized drones (I $H)

0000

42. Indian Gandhi Centre for Atomic Research, Kalpakkam is located in -

TR TR 7] YN The, HETFRT .......... J9Y 3R,
01. Karnataka (sieeh) 02. Tamil Nadu (aTfHe5Tg)
03. Andhra Pradesh (3 929T)  04. Kerala (@)

0000

43. Who gave the first evidence of the Big Bang theory?

o = fereqraren ufen quen wwft feen 2
01. Edwin Hubble (Tefer geret)
02. Albert Einstein (3¢ T3=eTEA) 0000

03. S. Chandrashekhar (T8, Sig9ER)
04. Stephen Hawking (1% gifeh)

44. The working of a rocket is based on the principle of -

TAhREAHE ... 1 AATER JTRA 3Te.
01. electricity (&)

02. Kepler's Law (Sheec=n =)

03. Newtons’s Law (Wﬁﬂﬂ)

04. Conservation of momentum (T 31e7Z9T)

0000

45. The most abundant elementin the earth’s atmosphere is -

<

01. Carbon dioxide (kT SETFAEE) 02, Hydrogen (HENH)
03. Oxygen (3TiferasH) 04. Nitrogen (ATAZISTT)

0000

46. Who among the following is regarded the Father of Internet in India?
WIATAUh! ShITTTAT WRATAA SeHET STk AT I ?
01. Brijendra Kumar syngal (ﬁﬁawﬁi’qﬁ)
02. Sam Pitroda (¥4 fu=tig)
03. Pandit Sukhram (dufed G&™)
04. Rajiv Gandhi (Trsfia igft)

0000

47. Who discovered the atom bomb? JTUTETwEIT INIEI SRR T ?
01. Otto Hahn (3@t &) 02. Albert Einstein (3eaé aigerzd) |O O OO0
03. Edison (ufew@m) 04. Lord Rutherford (FiT8 &c{whIE)

48. Which of the following is used by T.V. remote control units to operate a
T.V. set

A5, H9 AATAUATETE Wiefterden! Shivld A58 fie g e am@am? (00 0 O
01. Infrared (33FRE) 02. Sound Waves (&t &1gdt)
03. Microwaves (ATIhIgER) 04. Rediowaves (fg3na=R)
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49. India’s information technology capital is -

) OJOXOXO)
01. Pune (991) 02. Chennai (I91g)

03. Bengaluru (87&%)  04. Hydrabad (3g0&e)

50. Which one of the following is not an example of a bio-mass energy

source? WTeileTdeh! ShiTTd STE—HTE STl Sare 32T 161 ?

01. Wood (TTeRS) 02. Nuclear Energy (79[t )
03. Gobar (Dung) (TR (A1)  04. Coal (ShHIesHN)

0000

51. Radio-activity was first discovered by -

OJOXOXO)
01. Pasteur (AI2R) 02. Newton (FIg+)

03. Watson (afea ) 04. Madam Curie (WeW &%)

52. Plastic Bags are a potential hazard to the environment. Which of the follow

ing options correctlydescribes this? Teteeeh TUTen URieRuTETS! AT eiteht
TR, WICAICTUh! SHIUTT TaTe aTe! ST JUT U ?
01. They are light in weight and hence cause nuisance by flying

(4 T EeToh STEATA ATV & ISAM A Bidl) 0000
02. Toxic chemicals are used in their production

(caT=AT ITEATA Tt TRM STaiet \raTd )
03. They are non-resistant to heat (ﬁmuﬁﬁ%ﬁ? q9dId)
04. They are non-biodegradable (A AT IRNTEUAZTA 3AT2d)

53.  Which of the following pairs is wrongly matched?
01. Tesla: Electric Car (3%: Scifereeh %R)
02. Bitcoin: Cryptocurrency (fereeriga:fsreaiens=t) O00O0
03. Pokemon Go: Augmented Reality mobile Game (QrerHT= T ST
Raiferdt Mg 1)
04. Zooom: OTT Streming Platform (STH:EEITHT wiewhiA)

54. Tiangongis -

01. Newly launched Chinese Interplanetary Mission
(A AT heiet ferft Setetaed fivm) OJOXOXO)

02. Chinese Space Station (Tt 37eRTes TTH)

03. Chinese Mission for Mars Landing (AT #fwmad fert wigm)

04. Chinese Mission for Moon Landing (SIgTeR Iavuamaret feeit M)

55. Arunning man crosses a bridge of length 500 meters in 4 minutes. At what
speed he is running? SITIUTRT WIUTE ¥ fafieTa oo HieX STeli< Iet UR Hial.
Al SHITTeHT AT YTerd 318 C0O0O0
01. 8.5 km/hr 02.7.5km/hr  03.9.5 km/hr 04.6.5 km/hr
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56. Todayis Wednesday, after 68 days, it will be

T JUAR 311, &¢ fommrt shiomr ar 3ge ? 0000
01. Friday (J[haR) 02. Sunday (@)
03. Monday (HWaR) 04. Thursday (TT&aR)

57. Vikas and Mohan working together can complete a work in 6 days. If vikas
alone completes the same work in 10 days, in how many days Mohan alone
can complete the same work?

ferepTar smfuT Wig U R A € fGaTa Uk hiH YUt i JTehdTd. Ushel
forehTar SR a1 ™ 2 0 TeEETd YUt A, TR HigH Ushel a9 s fehdt flggama gqui| O O O O
T ITehe ?

01. 13 days (%3 feam) 02. 14 days (%% fea®)
03. 15 days (34 feer@) 04. 16 days (38 f&=®)
58. The base of aright-angled triangle is 10 and hypotenuse is 20. What s its
area?
TR FEERIUTRN Ur o 3112 3101 KUt R0 3R, AT &Fes fehelt 3T1R ? O0O0O0
01. 52 Meter (43 Hiex) 02. 58 Meter (4¢ Hiex)
03. 68 Meter (§¢ HeR) 04. 60 Meter (§o Hiex)

59. The ratio of length and breadth of a rectangular park is 4:2. If a cat running
along the boundary of the park at the speed of 18 km/hr completes one

round in 10 minutes, find the area of the park in square meters.

ST ST ATE SATUT Eerel U ¥: 3 HTE. JAHTAT HHeR $¢

Roch v 2 e e So-fRfgta e A o e e, s | © O O
& <IRE Hiegwed wel.
01. 50000 sq. m. (.H.) 02. 45000 sq. m. (3. #.)
03. 68000 sq. m. (=it #.) 04. 55000 sq. m. (Sit. /.)
60. (25.732)2-(15.732)2=7
OXOXOXO,
1) 414.64 2) 414.256 3)414.128 4)414.52
61. 0.4x0.4+0.04x0.04 +0.04 =7
1) 0.20 2)0.38 3)0.16 4)0.46 ©CO00

62. Average of five numbers s 20. If each number is multiplied by 2, what will
be the new average?

T HEATH T R0 SR, Tedish TE3l R A PR heq@ aam st (OO0 0O
fordlt sr@e ?
01. 30 02. 40 3) 50 4) 60

63. 10typists can type 600 pages in 8 hours. Find the average number of
pages typed by each typist in an hour.
%0 TTUTE ¢ ATETA €00 USS ZT3U hic IThdTd. Tedieh STATUEe Ueh! ATdTd

2B Heod TSIt TRrEdt S vne. o000
01. 7 pages (q@) 02. 7.5 pages (W)
03. 8 pages (T3) 04. 8.5 pages (J3)
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64.

5600 is to be divided into A, B, C and D in such a way that the ratio of
share of A:Bis 1:2, B:Cis 3:1 and C:D is 2:3. Find the sum of (Aand C)

and (B and C). (4§00 g U1 HEA 3191 UehR fa9mTet S/l &t A:B =
FEWRT TUIRR 1:2, B:C 3:1 ST C:D 2:3 ITEEA. INAT (A SATVT C) AT10T (B
anfot C) =it o)

01. Rs. 2400, Rs. 3000 02. Rs. 2000, Rs. 3000

03. Rs. 2400, Rs. 3200 04. Rs. 2000, Rs. 3200

0000

65.

Find the HCF of 210, 385 and 735.
210, 385 37T 735 = HETS! I,
01. 7 02. 14 03. 21 04. 35

0000

66.

What smallest number should be subtracted from 9805 so that it is divisible
by 8? 9805 HET ThHIVTH TIgM TEAT a1 ATl U ot 8 = fawnfsm gige.
01. 3 02. 4 03. 5 04. 7

0000

67.

A 60 liter mixture of milk and water contains 10% water. How much water
must be added to make water 20% in the mixture?

T ST UTUAT=A &0 ToTet TSI o Zarh UTull 31&d. FSiuma 20 25k
FOGETS! fehet Aot =retrel e,
01. 8liters 02.7.5liters 03. 7 liters 04. 6.5 liters

0000

68.

Ifa:bis3:4andb:cis2:5 Finda:b:c
SRa:b3:43MTb:c2:53WATa: b cIN.
01. 3:2:5 02. 3:6:5 03. 3:4:10 04. 2:3:4

0000

69.

Two pipes can filla tank in 6 hours and 8 hours respectively. A third pipe
can empty the same tank in 12 hours. If all the pipes start working together,
how long it will take fo fill the tank?

H UTET SSRA € T 30T ¢ AT TRt W YTehard. foremn urgy ¢ 2 amem
e eTeht Tt e vTehdl. SR Hd UIETH U hil i AT o 2Teht
WO fehell A% @RI 2

01. 4 hours 02.4.5hours 03.4.8 hours 04. 5.2 hours

0000

70.

If 40% of an amount is 250, what will be 60% of thatamount?
IR 40% T&FRH 250 T8, T =N THAAT 60% fehedt 3@,
01. 300 02. 320 03. 375 04. 400

0000

71.

The ratio of the ages of Minu and Meera is 4:2 . If the sum of heir ages is 6
years, find the ratio of their ages after 8 years.

fo_amifon Hi Arean ST UTER ¥:? 3R, SR et aEr s § o
YA, TR AT TAT ¢ THHAT UTieR Ine.
01. 8:6 02.6:5 03. 6:4 04. 7:5

0000

72.

x@ (a+b) xP (b+c) e (c+a)
(x—b) x(—) X(F) =

2)0 b) Xabc C)x(a+b+c) a1

OXOXOX®)
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73. {[(2+3)x2]+(4-2)}x4= oXo)Xo)e

01. 20 02. 16 03. -20 04. -16

74. 1f23% ofais46,thenfinda=..........
SRa<A23%=46Ra=.......... O00O0
01. 150 02. 200 03. 20 04. 300

75.  Which of the following Statements is true for a rectangle?
SATIATAN ST WiciieTdeh! shiuTd fererm shisr 3mg ?
01. All rectangles are squares (9d 31¥d g <R @A) 0000
02. It's diagonals are perpendicular (SATEATE Ut (THHRMAT) TS FEATT)
03. It's diagonals are equal (3TTHAT=! THUT TH THED 3THATA)
04. All sides are equal (STTEATEAT Ta SIS THH SFAT)

76. Euler's Formulais given by (WTefteTieht shiutd Jerea T foet ame ?)

01. F+V=E+2 02. F+V+E=-2 O00O0O0
03. E-F-V =2 04. F+V+E=2
77. Which of the following statements holds correct?
ETATAdh! SHIUTAT T SRR 3118 ?
0.L.NcWcZ 02.WcNcZ OO0O0O0
03.ZcNcW 04.ZcWcN
78. 1f6(1-2x)=9(1-x)then,x= SRO6(1-2X)=9(1-x) W, x=
( )=9(1-x) VA ( )=9(1-x) i 0000
01. 1 02. 3 03. -1 04. -3
15 2 4 15 2 4
8v2 m 79. ThelLCMof=,=,—,and —is: =, , T 30T —— < e femdt 2
: 3’6’9 27 396" 9 27
0000
1 10 20
1)— 2)— 3) 4) None of these
54 27 3

77. Tanaya starts to walk from point A towards south, After walking 8 mtr. she
turns in 90 to her right. She walks 8 mtrs straight and turns again her right in

45° and walks g./2 m, meters to reach point B. What is the distance
between pointAand B.

e A fagurga 8 . gfariens ¥ <tetd STd & shieehiATa Setea fqgrent CO00
T Geg1 8 Hi. TTeTd. AR A 450 ST ST STt A& 8,/2 ., |
<terd S B fagueda wiged. @ A 9 B fagrefier st fercdt 2

1) 2442 m. 2) 82 m, 3)16m.  4)0m.
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